[image: image1.png]Let V C R" be a subspace, let {v, ..., v;} be a basis for V, and let

Wi, ..., W, € V be vectors such that Span (w, ..., w,) = V.Prove
that ¢ = k.

Prove Proposition 3.7. (Hint: Exercise 8 and Proposition 3.6 may be
of help.)




(The material is from Basis and Dimension. Please explain each step of your solution for # 8, 9. Thank you.)

Proposition 3.7:

Let V in Rn be a k-dimensional subspace. Then any k vectors that span V must be linearly independent and any k linearly independent vectors in V must span V.
